000 000 0 0 O O

BBC-19080002040305 Seat No.
M. Com. (Sem. IV) (CBCS) (W.E.F. 2019) Examination

July - 2021
Advanced Business Statistics - IV
(Applied Statistics) (Group-5 Stat.) (New Course)

1
Time : 25 Hours] [Total Marks : 70

JAAL (1) 54 28 Uil AR Ul qual,
(2)  £2% Ul AW Rl B,
(3) ¥asydex-il GuyldL HIY ©.

1 () Geulert UBAHL RlATIAL Al 212 e 53 wA AdAHL 17.5
Beu~t s3I uRolol-l 2l s

(o) QA Ml vl ¥ 2 R 201du 1R A Geuled ubbal
3L [Hely ol :

[ sv |1 |2 [3 |4 [5 |6 (7 [8 [9 [10

weys (¥) |24 (3240 |35(33 (454337 (3441

Lz (R) |20 |11 |8 |12 12|15 |13 |17 [14 |11

(n=5.4,=058,D;=0,D, =2.12)

2 () wwAdl 17.5
(1) Gaulesd vy 2in Ales A
(2) AlsHel Rgid (Theory of Runs)
(&) s12 otrladl As sl 15 siHL 03 WSl viHlpil s
Aidl. C-21AM €l dHIRL AR 2L :

1.+ 1 |2 |34 (5 ([6]|7 |8 |9 |10]11]12]13 (14 (15
il AL vl |15 (12|16 (20|10 |2 (14 |18 |16 |12 (8 [5 |7 [14]6

3 (21) uxondl - wHls Al v2s) wA de yussWwL. 17.5

() derdla yalguit 22l y=a+bx +cx’ el siedg=-l
Add AHAAl.

BBC-19080002040305 ] 1 [ Contd...



4 AL s SRl sl vl Yelg sy s A 17.5
ay-2022+1 Geuled Hi2d, ydldHid k) :

ay

2014 | 2015 | 2016 | 2017 | 2018 | 2019 | 2020 | 2021

Geulest (¢oR 2mi) [ 19.4 | 20.2 [20.4 |21.4 [23.8 |25.8 [24.8 |29.6

wiol v2d g ? uididl Muy wxondl a-l wReuil weudl.  17.5
Hiol v YRasIl Y AUAdL Al
N, AR 14 MR 23l didrieie dadl qlbd 521 3

AR
" A.R—M.R
As ardd wio-AY X :50—% 8. agrl 58 Bua 17.5

dIHeIAl HedH 24U ? HedH Heldl ueL bl 32l Hidl s
QUL HedH el 29 ?
M5 SAMREIR O Al Geuled 52 . drll Hidtdl AU 2
AYsd v [y A w8

P=40-5x,

q=30-3y

C=(x+y)2+2y2

HedH sl M2 x, y, p A g WHL GUAd HedH sl k).

Geuled (AUl @vdl UL A el dRidHl Ll 17.5
AHEd Gewlent [A8U{l vl 2L, 3R (Buler)d %94 quil

v Al 5.

AuAdl ¢ g drloel, Alid qRRIRL, deke as.

Gewler (8% Z = xyd el [8Y (C) 6x+8y =101 2wl 17.5
HedH AsL Q.

ol Ul & Gauled WA C = x + 3y © i1 dv Gewleq 8y
xy=75 8 dl Yeddd v k).

slo-30a1. Geuled [A8y [Ao1d Aol

BBC-19080002040305 ] 2 [ Contd...



ENGLISH VERSION

Instructions : (1) Write any Four questions out of Eight.

(2) All questions carry equal marks.
(3) The use of scientific calculator is allowed.

1 (a) Specify the meaning of variation in quality in the 17.5
production process and discuss the factors that
causes variability.
() From the following information draw X and R charts.
State wether the production processs is under control.
Sample No. |1 |2 |3 [4 |5 [6 [7 |8 |9 |10
Mean (X) |24 |32 |40 |35|33[45(43[37 |34 |41
Range(R) |20 |11 |8 |12 (12 |15 |13 (17 |14 |11
(n=5.4,=0.58,D;=0,D, =2.12)
2 (a) Explain : 17.5
(1) Producer's Risk and Consumer's Risk
(2) Theory of Runs.
(b) A car manufacturer found the following defects in
15 cars. Draw C-Chart and state your conclusion about it.
Car No. 1 |2 314 |5 (|67 [8 |9 (10]11(12]13]14 (15

No.of Defects |15 (12 |6 ]20 |10 |2 (14 |18 |16 |12 |8 [5 [7 |14 |6

3 Explain : 17.5

(a)
(b)

Components of time series and its analysis.
Explain the method of forecasting

y=a+bx+ cx? for Business forecasting.

4 Fit from the following times series information and 17.5
find the estimate for the year 2022 :

Year

2014 [ 20151 2016 | 2017 | 2018 | 2019 | 2020 | 2021

Production (Inthousandton) 19.4 (202 1204 |21.4 |23.8 [25.8 |24.8 |29.6

5 (a)

What is Demand ? Explain the rule of demand 17.5
(Law of Demand) and its assumptions.
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(b) Explain Elasticity of Demand and Supply.
(c) State interrelationship between m, AR and MR

AR
prove that, 1=~ 5=

6 (a) If a production function is Y = 50_% . What will 17.5

be the maximum revenue value of the item ? And find
out Max. Revenue. What is the demand when revenue
will be maximum ?

(b) A monopolist produced two items. Its Demand function
and Combined cost function are as follows :

P=40-5x,
q=30-3y

C=(x+y)2+2y2

Find out x, y, p and g for Max. profit, also find out
Maximum profit.

7 (a) Define Production function and state its properties. 17.5
(b) Define Homogeneous production function. Write and
prove Euler's theorem.
(c) Explain : Total Utility, Marginal Utility, Different curve.

8 (a) For Demand function Z = xy and Cost 17.5
function (C) 6x+8y =10, obtain the production to get

maximum profit.
(b) If a firm's total production cost C = x + 3y and its

production function is xy =75, find out minimum cost.
(¢ Explain in detail "Cobb-Douglass" production function.
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